




3 of 530-41011-V-01

STEP 1 " ASSEMBLY OF CRIB SIDES"
THIS STEP REQUIRES :

A.Head Board    (1 pc)
C.Side Board     (2 pcs)
D.Stabilizer Bar  (1 pc)
N.Allen key         (2 pcs)

F. Allenbolt 2 1/2"(65 mm) (4 pcs) G. Allenbolt 2 3/4"(70 mm) (4 pcs)

W. Spring washer (8 pcs)L. Nut 3/4" (20mm) (4 pcs) M. Barrel Nut (4 pcs)

C

M
D

WG
N

C

N
F

W

L

A
              FACE
            INSIDE    RIGHT

    INSIDE

STEP 1.1

STEP 1.2

STEP 1.1
- Insert Nut 3/4" [20mm] (L) through the top  and bottom holes in headboard from the back side.
-Insert Allenbolt 2 1/2"[65mm](F), spring washer (W) through the top and bottom holes in Sideboard and
connect to the Headboard. Hand tighten only!
-Repeat STEP 1.1 for other Sideboard.
STEP 1.2
- Insert Barrel nut (M) into holes in Stabilizer Bar.
- Connect Stabilizer Bar to the Sideboard using (4 pcs) Allenbolt 2 3/4" [70 mm](G), Spring Washer (W) .
- Tighten all Bolts with Allenkey(N).















30-41011-V-01

STEP 2 " MATTRESS SUPPORT HEIGHT ADJUSTMENT "
THIS STEP REQUIRES:

This hardware is included in the CRIB.

K. Allenbolt 1"(25mm) (4 pcs)

W. Spring washer (4 pcs)L. Nut 3/4" (20mm) (4 pcs)

N. Allen key (2 pcs)

- Remove the Allenbolt 1"(25mm) (K) Spring Washer (W) and Nut 3/4"(20mm) (L) on

  the Mattress Spring.

- Move Mattress Spring to the lowest position as shown in FIG.2.

- Attach the Allenbolt 1"(25mm) (K), Spring Washer (W) and Nut 3/4"(20 mm) (L) on the

  lowest hole of Sideboard.

- Final position as shown in FIG.3.

FIG.3.

FIG.2.

N
K

W L

Lowest

position






	41011-STONE HILL 4IN 1 CRIB -E P1
	41011-STONE HILL 4IN 1 CRIB -E P2
	41011-STONE HILL 4IN 1 CRIB -E P3
	41011-STONE HILL 4IN 1 CRIB -E P4
	41011-STONE HILL 4IN 1 CRIB -E P5
	41011-STONE HILL 4IN 1 CRIB -E P6
	41011-STONE HILL 4IN 1 CRIB -E P7
	41011-STONE HILL 4IN 1 CRIB -E P8
	41011-STONE HILL 4IN 1 CRIB -E P9
	41011-STONE HILL 4IN 1 CRIB -E P10
	41011-STONE HILL 4IN 1 CRIB -E P11
	41011-STONE HILL 4IN 1 CRIB -E P12

